gﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂg
o GUESS PAPER MATHEMATICS CLASS 9" o
g All Punjab boards - pakcity.org & 4
& o
g CHAPTER # 01 (MATRIX) g
g Q.1: Choose the correct answer. g
1 The order of matrix:[2,1] S,
g a) 2-by-1 b) 1-by2 c) 1-by-1 d) 2-by2 g
g 2 [‘f \% s: te IS g
g a Zero b) Unit c) Diagonal d) Scalar g
g 3 Finci/a_djoint [(1) _21] Uty . ‘g,
1 -2 1 2

g [ 02 \75 b) [0 -1 c) [0 —1] d [ 02 \;)i] o
g 4  Find ‘X’ so that |32c g| =0 e g
g a 9 b) -6 c) 6 d) -9 o]
g 5  Find product [x,y][_21] SO g
g a [2x+y] b) [x-2y] c) 2x-y d) X+2y e}
[} Q.2: Attempt any 15 questions. [}
g 1 | Define matrix. S AE e |11 f B=[_11:_ then find B+[_32] g
g 2 | Define order of matrix. gk 65 | 12 | Simplify (1) (1) +[g (2) -[1 (1) g g
RS eielvil e o ) e e :
’ U ind 2A"-3B" o

g 4 | Find order of matrix F={0}. _Q/()’”;/ 14 | Find [-3 0][3] Q@ pakcity.org %o -J./F"’” g

Difference b/w s L 5
g 5 rectzsguclzr & square N £ di/ 15 | Multiply V4 [ z2 - 5] By g
[e] matrix. SIS/ 6 —4 4 o
E 6 | Define null matrix. u;f/JJJl’"ti/’; 16 gif;erlence k;/w singular &non- JL’":Z:‘:;’:E §
, ingular matrices. s

o — o
g 7 | Define symmetric matrix. A J/j; 17 | Find determination of [3 3] -J,/r}’”ﬁ» g
g g Defin.e skew symmetric o PSS 18 SZowlthat matrix is singular or not At_fJgJ"/.f_.f.@ g
g matrix. u/r [3 2 T g
g o | Find transpose of B ﬂ -J"/(’M}:J’; 19 F”ld m;ltlpllcatlve inverse of p"”uﬁ"}/” o
d -3 5 ~U:/ g
g 10 | If C=[1-1 2] then find 3C N e R
o

(] ]
(] ]
g e —— &
o {  ATFRAZIALAL J o
(] (-]
g g
o o
o o
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gﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂg
o Q.3: Attempt any 2 questions. o
- Verify A-A'is skew symmetric for A= 12 pakcity.or A-AY S b S E Z
o 01 a - Dedbed 7= | gy
© | 2 | Verify AB=BA if A= 13 ,B= 12 Gy /=ta=Ba | &
o 2 0 -3 -5 - o
g 3 | verify (apy1=8aita * D] =t 77 SuSeta-1=8"A" | B
o 4 | Solve by Cramer’s Rule 2x-2y=4, 3x+4y =6 Q/J’;uib”/:/ g
[} Solve by matrix inverse method 3x-2y= 4, -6x+4y = - [}
g5 |0 Srearit| g
g CHAPTER # 02 ( ) g
g Q.1: Choose the correct answer. g
1 (27x-1)-2/3 = ........
o 9 9 8 8 o
[} 2 The conjugate of 5 +4i L [}
g a) 5 +4i b) 5.4i ) 5-4i d) 5 +4i g
3 i9=...
g a) 1 b) -1 c) i d) [-i] g
g 4 Imaginary part of —i(3i + 2) <u5”i¢,/gdﬁf1 g
a) -2 b) 2 c) 3 d) -3
[+ 257172 (<]
o 5 o e o
[e ] | 5 b) 4 ) -5 d) —4 o
g 2 5 L T . B o
g Q.2: Attempt any 15 questions. M g
Differ between rational w}'ﬁ'yfi/"ﬁbb Write in a-bi form 2i2 + 6j° + 3i'® 5
g . and irrational number. ‘J;JJ/' 2 | 60+ 4, 'fﬁdﬁ&a_b' g
g R t ber li P ) i o <}
g ) é?resen on number line -uj/ﬁlﬁ4dlﬂ/ 10 in;i)pllfy in a+ bi form (-7 + 3i) (-3 -Jf’vutfa-bi g
- !

o Gi tional numb A B
g 3 b::\jvaeer: éogr:ainum ° _u“/(}’ﬂ}”t&yﬂ 11 | Define complex number. bﬁj/)J/u’j; g

299 - o
g 4 | Expressin S from 0.5 . S | 12 | Evaluate i and (). S g
g 5 | Simplify 3\/% ) /S | 13 | Calculate z+Z, z-Z where z = % . 2 G247, 2-7 g
g & | Define conjugate of a Sowl? Fodiy 1 | iNd=Z=W =Z-Wifz=2+3i S T=wW g

lex number. ey and w= 5-4i. Y
] comp NIy -7 o
g 7 | simplify 52° =+ (52)°. g/ | 15| Solve \/25x10n yy8m, g/ g
[o] Find values of xandy x + . Separate real and imaginary SOEN P g
[} 8 iy +1=4-3i. "4/(’1’”“:’5 16 parts of 2 + Oi. -u:‘”J (]
g Q.3: Attempt any 2 questions. g
g 1 Show that (ﬁ)ub X (x_b)b+c X (x_c)c+a (x_a)a+b X (x_b)b+c X (x_c)c+a J/'/" ¢ d
[o] xb x€ xa’ xb x¢ wal U= o
. o (81)™ 35 (3)*"71 (243) (81)" 35 (3)4"~1 (243)
g 2 | Simplify (fzn)(33)1 : . : (92n)(133) : g S g
. . (2)3 X (27)3 x602 (2)3 X (27)3 X602

g > | SmPIY e ooy Ty xS g
g 4 | Solve for x andy (2-3i) (x+vi) . (2-3i) (x+yi)-q/d’ég/y/,ux g
g 5 | Simplify i/;:;?’\/i::i/% 3\/::;3\/2:1:3 %-u:/d’ g
o (<]
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gﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂg
g CHAPTER # 03 ( ) o
[o] Q.1: Choose the correct answer. pakcity.org o]
g 1 fa¥=nthen (<]
g a) a=log, n b) x=log, n c) x=log, a d) ) a=log, x g
2 The relation y=log, x implies:- e L"/ul",.‘}"’yf/g)
o 4 o
g a a'=z b) ' =x c) xX'=y d) yi=x o
g 3 The logarithm of unity base is:- _Lat"n/,!//;”/?%l o
o a) 1 b) 10 c) e d) 0 g
o 4 The logarithm of any number to itself as base is: ?Lgrn/.!/.zigfmi'uuw&ﬁ/d{@/ g
g a -1 b) 1 <) 0 d) 10 (<]
[+ 5 Lloge=..... where e =2.718 (<]
g 0 b) 0.4343 8 % d) 1 &
g Q.2: Attempt any 10 questions. g
ﬂ Write in scientific g e Find the numbers whose r’l’”C,-Lf&J(E/UKJ?/ ﬂ
g 1| notation. 0.00000000395 AL N P logarithm is 3.5621 s g
g 2 \r:\:)rti;;(i)r:f;i;egéific _u:"‘iu:rf}g'ﬂ, 9 | Find unknown log,6 = 0.5. -q/rPcéJrM g
g 3 z\./cr)i(;cexi:oc;gdinary notation. -uﬁ“’guﬂ(fnf(k 10 E}/Ea\luate log 512 to the base -%/J, g
g 4 \éV):i';g_Ln ordinary notation. _J:Ju:(f;(u 11 | Find x where logx 64 = 2. _u/p‘*’bwjd/x §
g 5 Define logarithm of a real J(ZIUL"‘}% 12 Wrizte7in S ryoNifference -ui”’v/ui‘J/'urf (<]
o number. NIy Iog\/;. 4 g
o Difference b/w O s b Write in the form of single ¥ - o
B | & | characteristic & mantissa ) 3 | Jogarithm 2logx — 3 'ﬂwf&//u”” Z
o ) el ogarithm 2logx — 3logy e
g Find the common o Find Iogi—g where log 2 = i 16 (<]
e 7 | \ogarithm of 0.00032 S Suee | 181 03010, log3 = 0.4771, logs = | -/ edd log 2 g
0.6990
g Q.3: Attempt any 2 questions. g
e 1 | Use log table to find M -u%d’LnL/JL&U.’EfEfU %)
o (388) [+
g | 2 |simplify¥342.2. N4 -J
g 3 | Express an single logarithm logx-2logx+3log(x+1)-log(x*-1). _fiutdﬁ(f(‘;’fum} g
g CHAPTER # 04 ( ) 5
[o ] Q.1: Choose the correct answer. o
B 1 conjugate of a+Vb is:- ¢rnol 766 arVb o
g o 2B 0 b 9  awbE  d  vab
B 2 The degree of polynomial 4x*+2x%y is: -€s.5.56 4x°+2x°y g
g a) 1 b) 2 0) 3 d) 4 g
a?—b?
g 3 G s d
g a (a-b)? b) (a+b)? c) a+b d) a-b g
o 4 4x-3y+2is an algebraic: K556 4x-3y+2 &
o . . . (o]
o a) Expression b) Sentence c) Equation d) Inequation o
g 5 Wanb)(ya-Vh): ., '
g a) a’+b b) a*-b c) a+b d) a-b g
o ( | awmaasg J g
g e g
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gﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂg
o Q.2: Attempt any 10 questions. o]
[e ] i Find (m*+n’+p’) if [o ]
& | 1 | Define polynomial. w88 | 11 | min+p=10, g Sod (miens (<]
r [/ S p’) &
mn+np+mp= 27
g 2 | Define radical expression. g/ Sz | 12 | Factorize 8%° 27y3 JIF g
[ Reduce in lowest . . g
g 3 | ¢orm BaGHD -/ | 13 | Define Surd. I g
2(x2-1) °
[+ Reduce in lowest form. . . o
g 4 | x2_4x+4 /A | 18 | simplify V14.4/35 S g
2x2%2-8
o - o
Evaluate ==X if x=3, y=-1, 7 x2y—2x Express surd in .
g > 7222 ) U"/(’IV xy © simplest form V162. 'q//u’ g
g 6 | Simplify 1+Z ey S | 16 | simplify “\/__‘37 u g
g 7 | Simplify (x> —49), Sx+2 _u://:? 17 :)/I%e V5320 + _Q/J’ g
o 2 10 o ' (o]
g 8 lF)I:: (a%+b) if a+b-10, a : /uq/r)’”(aﬂbz) 18 | Simplify (V5 + v/3)% g g
O | 9 | Find (ab) if a+b=5, a-b=17. Sy /74 (ab) | 19 | Find p+§ if p=2+/3. iy p+§ <
g 10 | Find (C+y?) if x+y=7, xy=12 S /e (C+y?) | 20 | Find % if x=4-/17 . S S % g
g Q.3: Attempt any 2 questions. g
o 1 Flndx , & (x- —) if x=2+/3. o
g 2 | Find x2+-% if —ﬁﬁ g
g |3 Simplify ———— @424V’ (o]
o VaZt2- \/az_ o
o CHAPTER # 05 ( -
g Q.1: Choose the correct answer. g
ﬂ 1 The factors of x>-5x+6 are: ¢ Q/Lum& X>-5x+6 ﬂ
g o (x+1),(x-6) b) (x-2),(x-3) ) (x-1),(x-6) o
g 2 The factors of 8x*+27y’ are: -t ~e121L 8x°+27y° g
g 2 (2x+3y),(4x*-6xy+y?) b) (2x+3y),(4x*-6xy+y) c) o
ﬂ 3 The factors of 3x3-x-2 are: -4 2o 171l 3x3x-2 ﬂ
g a) (x+1),(3x-2) b) (x-2),(x-3) c) (x-1),(3x+2) g
g 4  Whatwill be added to complete the square of 9a’-12ab? e LBVt 9at-12abdl L, J¥ o
g ) -16b° b) 16b° c) an° o]
g 5 Find m so that x*+4x+m is a complete square: -ngwd/JKugx2+4x+me“q/(}*”cume g
g 2 8 b) -8 c) 4 o
[+ Q.2: Attempt any 10 questions. o
g 1 | Factorize -3x’y-3x+9xy’. -J A $# | 9 | Factorize AX*+12X+5. _u”/ 7 g
g 2 | Factorize 12x*-36x+27. ,u“/ $# | 10 | Factorize 27+8%. -@/ 7 g
g | 3 | Factorize x(x-1)-y(y-1). -J/6# | 11 | Factorize 4x*-16y". SSOLT AN - j
ﬂ . 3 - State remainder - ﬂ
g | 4 | Factorize 3x-243x’. JAGF | 12 theorem JAukdle | B
o - o
g 5 | Factorize x*-y*-6y-9. - /$# | 13 | State factor theorem. LS g
. 2 - Defi f N
g 6 | Factorize x*-7x-12. WSS | 14 psl\l/:?)rzri;cl). © e el S g
o (<]
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gﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂg
_ ] Find reminder usi ; ;
g 7 | Factorize3x*+12y". yJsF | 18 rg;ﬂ;sz:h;;‘:gg Bk 230 g
B | s | Factorize x+x-132. JSs# | 16 o
o b o
g Q.3: Attempt any 1 question. g
g 1 If (x+2) is a factor of 3x’-4kx-4k’, then find the value (s) o@ pakcity.org %o g
of 'k’
g 2 | Factorize using factor theorem x*+5x°-2x-24 S$F L ih g SSF g
g CHAPTER # 06 ( ) g
Q.1: Choose the correct answer.
o | o
F 1 HcFof 5x°y% & 20x%y° is: :m”’uw 5x°y* & 20x°y’ (<]
o a) 5x%y° b) 20x°y? c) 100x°y’ d) 5xy &
o .
[} 2 HCF of a%-b? a*b’is: :?n(“”uu S a%-b? a*b? g
g a a-b b) a+b c) a’+ab+b’ d) a’-ab+b? o]
g 3 LCM of 15x% 45xy & 30xyz is: :&Jguw,;{ 15x%, 45xy & 30xyz g
a) 90xyz b) 90x’yz c) 15xyz d) 15x%yz
o (o]
g 4 Whatshould be added to complete the square of x*+64? W@ZL‘/@"Q@{L&@/JfoﬁM g
g a) 8x’ b) -8x’ c) 16x° d) -16x* g
5  The square root of a*-2a+1 is: Wl Aok a’-2a+1
o o
g a) +(a+1) b) +(a-b) c) a+l d) a-1 e}
Q.2: Attempt any 10 questions. (o}
g - - 7.3 )
£F | 1 | Define HCF of an expression. _q/uy/ﬂf(”w 7 ;'lr‘)g;-e_’(zii\/l of 39x'y’z & -q/fk'd’uw:s g
[+ roy ' — o
; | asls; y N 2 i Fi bt
<} 2 | Define LCM of an expression. uf/"dU’ Sheolss L f|2nd LCM t;y factczmzatlon Uz 2 AL 1515 e}
g S Xo+Ax+4, x*-4, 2X°+x-6 N [}
. ; Find LCM of 102xy’z, s g
g 3 | Find HCF of 39x’y?z & 91x°y%Z’. _J“/()’”(}’jw 9 8I5nx2yz, 183xyzz e —q/f}l”d"dh"'»' g
[} 4 Find HCF by factorization r}l’”dffﬂa’/éf‘ﬁj’)l& 1 Define square root of an J@/'/#LMJ/?{" (<]
(] X*+5x+6, x*-4x-12. algebraic expression g o
Y 7 = ar:
o Find HCF by factorization x*-27, r’b”dff-:’/l.(‘ﬁi’ﬂ‘ 8 factorlzatlonzt_o find ()’”5/'11?67.’4’/% o
g5, Ex27 2’18 11 | square root of 4x o]
o] XH0ox-2/, 2x-18. -/ 12xy+9y> - g
g Find HCF by division method r)’”r:j&’/»@(ﬁf’}b g
6 | 43x-16x, xPx-10+8 g
g ) : -z g
Q.3: Attempt any 2 question.
4 Use division mr()ethodyto gnd square root of x*-10x*+37x*- 5. B
g 1 60x+36 'U.:/I/’Jyf:ﬂ ‘4)./4&/’/':.’ g
Use division method to find square root of 8x*-6x>+7x’- -
g 2 2x+1- a "J../r’lyf:} »’Jn/*d/’“’ g
g 3 | simplify izfﬁzzxﬁ:‘; g g
o (o]
Z :
o (o]
g e o
ﬂ e ———— o ———— g
= :
o o
o (<]
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ﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂg
CHAPTER # 07 ( ) o
Q.1: Choose the correct answer. o]
1 LatMMJ;://vui’wduKP,s,z A statement involving any of the symbol <,>,<,> is called: g
a) Equation b) Identity c) Inequality d) Linear equation. o
X=... is solution of inequality -2<x<§ ? . B

2 _ . i
?Jngo{sz#:2<x<3 [
2 o
a) 5 b) 3 0 0 g
3 If x is no longer than 10, then: g
eIzt 102 X1 g
a) x =8 b) x <10 c) x <10 d) x>10 o
A X=0 is solution of inequality: o
‘-’?nd’(a,u/ﬁf/X:O a
a) x>0 b) 3x+5<0 c) x+2<0 d) x-2<0 o
c If a+c=b+c then a=b is called: g
_§2 W a=bisx a+c=b+c i o
. Multiplicative . tracheotomy g
a) Cancellation property b) property c) Additive property d) oroperty o
Q.2: Attempt any 10 questions. g
. . . Jal;l/du._{ p

1 | Define linear equation. .| 12 | Solve vt + 4 5. /S
NIy g

. i Ve od G 3
2 | Define identity. St | 13 Define absolute value of Ve i Gl g
4 real number. Ceslp (<]
: i : o
i P bl by
Define conditional equation. 2/ et 14 | Solve |3x — 4|=4. /S g
-l C
4 | Define line segment. ‘q/uyf@.;;k? 15 | Solve |2x + 5|=11. /S g
b 2/ .
../ ’ . Ny J.;!Jl/(j.u..{ a
5 | Define inconsistent equation. bzy/’d/.;uu 16 | Define linear inequality. ) g
-
s o
PSS [+
6 | Define radical equation. 7 Gk 17 | Solve 3x+1<5x-4. A (]
-/ o
o PSS [+
7 | Define extraneous solution. 20 18 | Solve 4—x > —7 + =x. /S (o]
Ny 2 4 o
2 1 1 x—2 [}
8 | Solve 3X—x=x + - _J”/J’ 19 | Solve -6<T <6. _Q/J" o
9 | Solve XT_g-xT_Zal. -/ | 20 | Solve -4<3x+5<8. uSf g
5(x-3) . X i State trichotomy property I e g
10 | Solve x=1-. a@pakcny.(@o AR of inequalities. I J el o
11 | Solvev/3x + 4 =2 g/ F | 22 | State transitive property. ,q/_g}b((mwu g
Q.3: Attempt any 2 question. g
2 _ 1 _ 1 o
1 | Solve xz_l—m—zxﬂ,xi +1. /S &
X X

2 | Solve o =2—— x#2 S g
3 | Solve & verify. 2x—3—-7=0. -‘j»/fdrg/,u‘j»/d’ o
(<]
g
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g Q.1 CHigpﬂgp
g 1  CHAPTER oog
g ° 1 t # [+
& 2) ,y+1)=(0 he corre 08 ( oos
o If (x (1 _'O) then ctans oos
a) ,0)= -1 (xy) i wer o
(0 ) y) is: . o
o ) ) is o
Y) the H p
[o] 3 n (x [of <}
o a) Point (2,-3 0.2) V) is: b) ( ooos
e - ,-3) lies in... b -1,1) ooo
ﬂ a) y=2x+1, x= I quadrant: ) (1 c) ) ggpg
5 > Wh zzthe” yi b) ¢ ';) (-1,-1) oog
i S: Ol -
2 a) h ordere | S 2c) o
o Q pair sati b) ) (0,0)
a 2:A (1,2) atisf C) ( p
ttem ythee 3 d L) o
o 1 | Defi pt an quati ) et
o efine o y10 b) ony=2 0 Ml (
o rdered questio ( x: e 8 1,1) g
5 pair. ns. 21) S L 4 d) g
, | Def y=2xe
g COe:rTj? Cartesian 2 fdeiz ° 2 u”(:ﬁu/ Y i g
n Ty
g ate plane.plane or <;jj/ . /2) d) 5 g
g 3 | Defi &'}’fl, . Draw th g
g efine coordin _q/j"j‘u&/{ — e graph of -y=2 (0,) o
n ate axis. "/’Jd}‘{/‘ 10 follo\:\//?IUe Of - X. g
)P Sy caresing p & cofthe B
o Afine origi Lo da iz I‘:'.=mx+c wg in the f LS o
ﬂ gln. |nd Val here - orm Of g
o agyalue of 2y="2 o
% ow m
ﬂ 5 ex INg lin & c of p
o Define colli v=pressi”g e by the pakeity. o
[+ olline gl =RV in the org
1P . ar points s A8, | 12 ::Ind Val:zhere 2Xiorm of L g
g OLfoere”Ce b | eOIIOW‘"g |-of [ & cy+3' o
g inate /W absci g/ Mpresg Jreiby of the o
(] ' scissa [ PG y=mx ing in
7 & L6 s +C the (<]
g Praw th ] 1 Verify e form of o
H w X
g 8|D e graph of x= Vil Ir:es & t:: i poﬁiyz'l- &
r raw the =2 sl Vot? line 2x- t(5,3) [}
d graph of -J:aad/' 14 .erify wh y=1or 2x a
p y=-1. ; &% onth ether poi 'V:lgf‘j/“ a
o Q.1: CHA oS not? eline 2 _Int 11 v ! G o
d Di ° cho PTE 15 Sket X y=1 ’ ) E’.u}'d’ . a
ﬂ 1 istanc ose the R # 0 'U/L‘/ P 7% ch the or 2x-y= b a
e b/w cor 9 Cur +6=0 graph WSS o
g a) two rrecta ( 16 | Ske : of lin ) UG
g o 00101 Saichth T e g
. (OIO) r. y_1=o gra - ”/"Cf a
g 2 Dist 0 '(0'1) . . ph of li g U
<] ance b/w = ne ~J:/L"~J|/ 4
o a) two points ( o) Ko v g
0 T . - /. Lz
d oint of : ,0),(0,1
o the points (2.2) . 2 ) g
S = g .
o (2,2),(0,0) i n 2 o
o )is: ! (0,0
o - oo ¥
gg L 2 B
[olo]e]e] — 6 (2,2),(0,0 g
ooos __,-—_‘_‘";_’—EEIF_,_._ o d) ]
oooogo 7*—-&213:%2 V2 g
ooo = o
pa ]
[of o] [+
[of o] [
oog [
oo (4
oo [
oo [
pooos g
oo
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o 5
g 2 (1,1) b) (1,0 c) (0,1) d) (-1,-1) o
[e ] Mid-point of the points (2,-2),(-2,2) is: o
[ e 50 6(2,-2),(-2,2) o
g a) (2,2) b) (-2,-2) c) (0,0) d) (1,1) g
g 5 Atriangle having all sides equal is called: _n/,!/,JgJJCM(GL‘ﬁww,{; o
[} a) Isosceles b) Scalene c) Equilateral d) None [}
g Q.2: Attempt any 10 questions. g
g . . enl Lz Define right angled b Pl i 226 o
1 | Find the distance b/w A(9,2),(7,2) 9 )
g I ek triangle. Ny g
Sl b6 & y P S el oy ¥
g 2 | Find the distance b/w A(0,0),(0,-5) i jfw,l»»j;} 10 | Define scalene triangle. 4/1‘! L 5 g
- ( 6 -
o p o
g . . el b5z Find mid-point of L o]
g 3 | Find the distance b/w A(-8,1),(6,1) -q/pl’”,w 11 A(9,2),(7.2) _q/r}‘”,bﬂdlfu g
[ béJ/JJi:@b'("‘ Find mid-point of : (<]
4 | Defi Ili ints. - i)
g efine collinear points N 12 A(0,0),(0,-5) Q/r)”,&»dy 2 g
g 5 | Define non-collinear points. VQ/JWL;&? 13 gi)n(c; r_nGi;:i—point of A(2,- _q/r,h”)}"&l{»/, g
o L N o
g 6 | Define triangle. -q/.@/"Jw 14 | Define square. -J./Jg/"d/&/ g
[+ Sl ol Ssls Define co-ordinate aé’/?tfd/'f};?&bf (<]
o 7 | Define equilateral triangle. _| 15 o
n -u:/(bé,)/d geometry. _u:/ g
o A0 <% pakcity.or
g 8 | Define isosceles triangle. 4 u:/'jjf P ty-org o
o = o
[+ Q.3: Attempt any 1 question. [e
g 1 g’n;i) ; (gglvle; that the point (2,k) is equidist from -ufy@ﬂcwﬁqfrﬁ”ogd//ﬁ%k’ g
g 5 | Show that the points M(-1,4), N(-5,3), P(1,-3) & Q(5,- —£IM(-1,4), N(-5,3), P(1,-3) & Q(5,-2)46 S /47 g
g 2) are the verticals of a parallelogram. S LS g
o CHAPTER #10, 11,13 & 14 ( ) o
g Q.1: Choose the correct answer. g
o 1 Two lines can intersect only at ... points: -wL/;ﬁ4L@--_/g/5;vgﬁL#u o
g a 0 b) 1 c) 2 d) 3 [e ]
g 2 Medians of a triangle are ....- RV g
o a) Concurrent b) parallel c) Intersect d) Equal o
g 3 Ratiohas.... Units.- by’ g
g o 0 b) 1 ) 2 d) None (o]
g 4 Symbol used for congruent is:- 9&&3{(}1" g
g a) ~ b) = c) = d) ~ o
g s Symbol used for similarity is: e B (<]
g a) ~ b) = c) = d) ~ g
o Q.2: Attempt all questions. o
o When two triang!es are said to be o F e S . = S o
g | 1 | congruent or define congruent 8 | Define parallelogram. g
g triangles. v ur o
o o
[ o
[ o
o o
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g i e P S o o
.S. . . SISy g
- 2 | State A.S.A postulate o 9 | Define similar triangles g S s g
o TR &
% Py
g 3 | State S.A.S postulate. "/)JJ u/: 10 | Define ratio. _u”/uy/ﬂf.:yy' g
-
e o, o
B | 4| statesAA Jartrdod e | B
A.A postulate. |11 . S J ¢
g NIeY. 4 pakcity.org & LA O o
Soror Pt Find the unknown. values e )‘”L’;u&f&* B
r
ate S.S.S postulate. . of x & m for the given
gs State S.S.S postulat 1 12 | of x & mfor th e o
o 74 congruent triangles. N i o
o ven f i CENGATAN -
The given figure LMNP is a =
g 6 | Define triangle. _q/__g/ij 13 | parallelogram find the rk”ofouu_%&MUu g
g values of m & n. -q/ g
g | 7 | Define line segment. I P S g
[
o CHAPTER # 12 ( ) g
g 1 | Define right bisector of a line segment. SIS Pt s g
g 2 | Define bisector of an angle (angle bisector). Sl U e sl sl g
Prove any one of the followings.
o _ _ O
g 4 | Any pointon the right bisector of a line segment is U”PC—U’/Lbﬁ(‘f’ﬁu?ndbgwbd:/cib;ﬁu’(ﬁkgﬁ )
o equidist from its end points. Ko Lol g
The right bisector of the sides of a triangle is . .
g 2 Concugrrent‘ % L At L L el g
[ Any point equidist from the end poi i o
points of a line P V. . R
ﬂ 3 segment is on the right bisector of it. ‘{W"'Md”fLJ’}"»J’M’L‘W&’VLU’/LDMKMVQ/’ o
o Any point on the bisector of an angle is equidist 4
g 4 from its arms -Léywldﬁl/‘cu}fjgé’ﬁu@/]{:d/’tidﬁuu/( g
g CHAPTER # 16 ( ) g
o . . ipad LSS . . oo | O
1 | Define area of the figure. 4 | Define rectangular region. —J/J/JJJJ:)J/
o S o o
[ - (o]
L . . as Define alti hei AL E oS5
g 2 | Define triangular region. _q/uy/’d/ﬁwuj“ 5 Ofethee aa?atILIJ:I?) o:anflght = ’ g
p p g . S‘ﬁ'_;l/y/ a
[+ . Jrsud S Define altitude or height Apfe balel | £
d 3 | State congruent area axiom. 6 f the triangl d
e Ny of the triangle. e o
[o] Prove any one of the followings. o]
Triangl I'b d of | altitud - 5 45
g 1 e:ﬁ;gissafgae‘!qua ases and of equal altitudes are _Jun/,!/,u:,}/uun/.'/.f/@‘/'é’/}’U}’F@"/.,M/G'U"u{"?w&' g
(] Parallelogram on the same base & b/w the same - 5 ]
g ’ parallel Iiies are equal in area ! ~LJ,,YL}M/J/.JJ/J@'CWU‘UJ’PJ’}C@/IA’zzﬁ'd’}/,'.UM/G'/.’/. d
' : o
[o] 3 Parallelogram on equal base & having the same uﬂu&wthfd/"?g'/!'buf@ﬁdf{/"w'fﬂ’di'?‘d'ﬁ/,v/l’"u’vf' g
g (or equal) altitudes are equal in area. ~an'AJJ/vﬁ(unz'4C@/'ﬂ'k) g
o o
o — o
o e g
o ' o
: :
[efefefofofeodefofofodedofofodedodofofededodofodedofofofodefefefofofofofofefefofofofofofeo]
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Z z
CHAPTER#15 & 17 ( )

g Q.1: Choose the correct answer. g
4 SR QUESTIONS A B 3 &
g 1 | The medians of a triangle cut each other’s in the ratio: -wa/&;;w&m/{_/uu{@w/,éw g
ol a | 4:1 | b) | 3:1 c) | 2:1 | d) | 11 o
g 2 | The diagonals of parallelogram ..... each other: -uzi_/.---d/g/u.,{lhéwzmd;u“»‘ (<]
a) Bisect b) Trisect c) Intersect d) Equal ]

o o
o Q.2: Attempt any 10 questions. o
g 1 | State Pythagoras’s Theorem. ,J“/ ut“,,.:,/flfg | 7 R?:Lngﬁén-center of }(/duﬂ?//ﬂ;l{f g
d . .LL)’/“ == a
a d/w,ui)'!:a/’@ i i d/// o/lfccw ﬂ
g | 2 | Define right triangle. N o 8 tDr(ie::]ngtTec.lrcumcenter of 4 y (<]
o S/ < | o
g E VRS i y y = L5 p
& | 3 | Define acute triangle. u{wt u'j li 9 ’Itjr?;ng?:rthocenter of J//d }féb%: (<]
[ g/ S/ | B
g 4 | Defi . RO Define centroid of a S p Lk g
efine acute triangle. .10 | . (<]

o Y. triangle. OB
[+ Verify that the triangle (<]
o 5 | Define concurrent lines .y}dlﬁb’ﬁ 11 ramlifollgwing measures icfmf?zcmj‘ci o
g ' S of sides is right-angled bt ajf_ o g
e . a=5cm, b=12cm, c=13cm. “Eeicsl3em s
g 6 Define point of concurrency of S BLiss” o% pakcity.org %ﬂ g

lines. S p e
o gt o
o Q.3: Attempt any 1 question. o
g 1 rcngtzr;cztcifABC in which mAB=3.2cm, mBC=4.2cm, LS AABC g
o in which mAB= BC= o
ﬂ 2 Cmo<n;i;%%’f a AABC in which mAB=4.8cm, mB(C=3.7cm, Uiu*ufb. AABC ﬂ
E 3 E}o:;i;usco'f a AABC in which mAB=3.6cm, m<A=75°, Ui‘fdfl‘a AABC §
[+ Construct a right angled triangle measure of whose 3,2éde’bV{m!5cméwd/};£u"uﬁw,ﬂﬂ!;’ft?.,{! [+
4

g hypotenuse is 5cm & one side is 3.2 cm. —cem g
g 2 1 4 2 g
o 1. Find the value of x if [3 _3] +X= [_1 _l o
g 2. Find x g
o o
g a) X b) g
Z ° z
o 3 X o
= =
o o
z :
o 4 4 o
z =
[efefefedededefodofodofodododededed oo ol ofofodododededeodedeodeodeodedeofeodeodeodeodeododeodododod
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3. Find the area of square. 4. Find the area of rectangle.

O@Exkcity.org %‘:

4cm 2cm

4cm

IMPORTANT LONG QUESTIONS.

1.  Exercise # 1.6 Q.1: Cremer Rule and Inverse Rule.

2. Exercise # 2.4 Complete, Review Exercise Q# 3, 4,5, 6, 7.
3.  Exercise # 3.4 Complete, Law of Logarithm.

4. Exercise # 4.1 Q.5: (i, iv, vi).

Exercise # 4.2 Complete.

6.  Exercise #5.3 Complete.

7. Exercise # 7.1, 7.2 Complete.

8. Theorem Chapter 12 (1 to 4).

4
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